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Note : This paper is of forty (40) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section—-A / Gls—h
(Long Answer Type Questions) / (€T SR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of nine and half (9%) marks each.

Learners are required to answer two (02) questions
only.
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1. Solve:

y—x—yza yo + —
dx L de

g1 DI

y—xd—y:ary2+d—yT
dx L de

2. Solve:
(D? + 4D -12)y = (x -1)e?
gl DI -
(D? + 4D -12)y = (x - 1)e?

3. Solve by Charpit’s method :

27X — px% — 2qxy + pq = 0
aifie fafy & g1 @IfTe

2zx — px2—2qu+ pg =0

4. Solve:
dx t
— + 4x + 3y = ¢
dt
d
2. 2x + 5y = e?!
dt
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gl DI

dx ¢
— + 4x + 3y =¢
dt
d
—y+ 2x+5y:e2t
dt

Section-B / Yls—Y

(Short Answer Type Questions) / (?vrq SIRE 79)

Note : Section ‘B’ contains eight (08) short answer type
questions of four (04) marks each. Learners are
required to answer four (04) questions only.
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1. Solve:
dy ) 2
COS X — + ysIn X = sec™ X
dx
Waﬁﬁm:
dy ) 2
COS X — + Yy sIn X = sec™ X
dx
2. Solve:

-1

(1+ yz)dx+(x—etan y)dy:O

g DIV :

(1+ yz)dx+(x—etan y)dy:O
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Solve :

P2 _9P +18 =0

g1 DI

P2 _9P +18 =0
Solve :
(b*+D*-D-1)y=
gl DI
(D3+D2—D—1)y:
Solve :
x2D2y—3ny+ 4y =
gel DIV :
x2D2y—3ny+ 4y =
Solve :
x2p + y2q = 22
gl DINY :
X2p+ y2q = 22
Solve :
(D? +3DD'+2D"?)z =
gl DI
(D2 +3DD’+2D'2)Z =
Solve :
p=1log(px-1y)
gl DI
p=log(px-y)

sin 2x

sin 2x

2x?

X

X

+

+
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Note :
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Section—-C / GUs—TT

(Objective Type Questions) / (A& T)
Section ‘C’ contains ten (10) objective type
questions of half (%) mark each. All the questions
of this Section are compulsory.
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1. The order and degree of the differential equation

dy .
J , are respectively :

/‘_\\

@ 3,1
(b) 1,3
o 1,1

(d

) 3,3
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2. 'y = 4sin 3x isasolution of :

(@)

b Y4y -0

d
(c) :+9y:0

(d) —-4y=o0
dx

y = 4sin 3x WW%,Wi

2
(@) ‘;zhy:o
X

2
(Ef) 23+4y=0
X

2
(H) Z:+9y—0
X

2
@ “L-ay-o0

dx?
3. The solution of the differential equation y = px — iz
p
is:
@ y=cx+ :
C
(b) y=cx+c
© y=-ox-—

(d) None of these
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p
(37) y:cx+£
c
(3[) y = CX +¢C
(ﬂ) y=cx—L

CZ
(@) 3™ ¥ ®Ig T
The integrating factor of the differential equation

d .
coszx—y+ y = tan x IS

dx
@ oo
(b) tan
© e
(d) 0
Jade G coszx:—ier:tanx BT qHDHA
@) et
(EI) tan x
(|) et
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5.

The solution of

(D2+4)y=0 is:

(@) c,e? +c,e?

[8]
the  differential

(b) €, COS 2X + C, sin 2x

(© (¢, + ¢, x)sin 2x

(d) None of these

3BT TR (D? + 4)y - 0 BN EA © -

(

[

2Xx -2X
) + C, €

(@) €, COS 2X + C, Sin 2x

(ﬂ) (¢, + ¢, x)sin 2x

@ ¥4 oK T
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The particular integral of the differential equation

(D2—3D+2)y:e5X
(&) o
(b) e5x
(C) e5x
12
(d) 0

Jqhel  HIPRT  (D?
TG B
(31) e 5%

is:

-3D+2)y =

e

5x

GG

A-56



[9]

(g[) eSx
e5x

q

&) —

() o

Solution set of the equation LI IS:

X y z

(@ xy =c¢,,yz=c,

(0 x=cz,y=c,z

(€) x=cyy,y =c,z

(d) None of these
dx dy dz ?f% .
- _ 2 _ = g?[aﬂﬂﬂ'oﬂaé.
X y z

@) xy=c.yz=c,

@) x=cz.y=c,

(@) x=cyy=cy2

(@ ¥ 1 T

The  differential  equation  of  the
dy

— 4+ P(x)y =0Q(x) y"iscalled:
dx

faz]

(@) Auxiliary equation
(b) Linear equation
(c) Euler’s equation

(d) Bernoulli’s equation
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B THIRUT BT WY d—erP(x)y:Q(x)yn
dx

HEATT B

(3) FErD FHIBRT
@) Rad BT
(6) ger W
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y = e™ is the solution of the differential equation

d? d .
y+P—y+Qy:OIfZ
dx? dx

@ m2+mPp+Q=0
(b)) m(m-1)+Pmx+Qx? =0

(€©) m?2+mQ+P=0

(d) None of these

d? d
y = em JqP] FHIRT —L . p L, Qy -0 P

dx? dx
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10. The solution of the differential  equation

(02 —3DD’+2D’2)Z =0 1iS:
(@ o (y—x)+d,(y-2x)
(b) o (Y + x)+ ¢, (y - 2x)

(©) o, (y +x)+d,(y+2x)
(d o
Yadel THIPRY (D2 - 3DD'+ 2D}z =0 B B

Clg

b (Y = x)+ ¢, (y - 2x)

2l

by (Y + x)+ ¢, (y - 2x)

€)

b (Y + x)+ o, (y +2x)

0

)
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